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01170 | [F BBLXO77” AND INLIST(DWXZ, "107) THEN | TF BBLX>”7” AND INLIST (DWXZ, “10”) THEN
F03[25,3]=707[1, 10] ELSE F03[25, 3]=0 F03[25, 3]=207[1, 10]
ao-t171 | T BBLX<>”7” AND INLIST (DWXZ, “21”) THEN | IF BBLX<>”7” AND INLIST(DWXZ, “21”) THEN
F03[26, 3]=707[1, 10] ELSE F03[26, 3]=0 F03[26, 3]=207[1, 10]
A0-1198 IF BBLX<>”7” AND NOT INLIST (DWXZ, “10”)
THEN F03[25, 3]=0
A0-1199 IF BBLX<>”7” AND NOT INLIST (DWXZ, “21”)
THEN F03[26, 3]=0
aigg | IF NOT INLIST (BBLX, “7”) AND [1, 12]=0 THEN | IF NOT INLIST(BBLX, ”7”) AND
[1,8]=[1, 18] [1,11]+[1,12]=0 THEN [1,8]=[1, 18]
4420 IF NOT INLIST (BBLX, “7”) AND [2,12]=0 THEN | IF NOT INLIST(BBLX, ”“7”) AND
[2,8]=[2, 18] [2,11]+[2, 12]=0 THEN [2, 8]=[2, 18]
woy | IF NOT INLIST (BBLX, “7”) AND [1, 12]=0 THEN | IF NOT INLIST(BBLX, “7”) AND
[1,9]=[1, 19] [1,11]+[1, 12]=0 THEN [1,9]=[1, 19]
wggo | TF NOT INLIST (BBLX, “7”) AND [2,12]=0 THEN | IF NOT INLIST(BBLX, ”“7”) AND
[2,9]=12, 19] [2,11]+[2, 12]=0 THEN [2,9]=[2, 19]
aao3 | IF NOT INLIST(BBLX, ”7”) AND [1, 12]=0 THEN | IF NOT INLIST (BBLX, “7”) AND
[1,10]=[1, 20] [1,11]+[1, 12]=0 THEN [1, 10]=[1, 20]
aaoq | IF NOT INLIST(BBLX, ”7”) AND [2, 12]=0 THEN | IF NOT INLIST (BBLX, “7”) AND
[2,10]=[2, 20] [2, 11]+[2, 12]=0 THEN [2, 10]=[2, 20]
IF  NOT  INLIST(BBLX,”1”,72”,”7”)  AND vn men men
A2128 INLIST([KMBM],K_1§ THEN [2]>=0) pLse | P NO{[ INL§ST<B$LX’ 1[’]§_’{7~) AN?
(210 (7°13, 26) INLIST ([KMBM], K 1) THEN [2]>=0{7"13, 26
IF NOT INLIST(BBLX,”1”,72”,”7”) AND|IF NOT INLIST(BBLX,”1”,72”,77”) AND
A2129 | INLIST([KMBM],K 2)  THEN [2]>=0  ELSE | INLIST ([KMBM], K 2) THEN
[2]=0{14"20, 27} [2]>=0{14"20, 27}
42136 IF NOT INLIST(BBLX,”I”,”Z”,”?”)/éND NOT
INLIST ([KMBM], K 1) THEN [2]=0{7"13, 26}
2137 IF NOT INLIST (BBLX, "17,72”,”7") éND NOT
INLIST ([KMBMJ, K 2) THEN [2]=0{14"20, 27}
2416 IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN
%, 11>=[%, 2]+[*, 3] {1} ABS ([*, 11) >=ABS ([*, 2]+[*, 3]) {1}
2417 IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN
%, 11>=[*, 2]+[*, 3] {2} ABS ([*, 11) >=ABS ([*, 2]+[*, 3]) {2}
A2418 IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[, 4]>=[*, 5]+[*, 6] {1}

ABS ([*, 4]) >=ABS ([*, 5]+[*, 6]) {1}




42419 IF NOT INLIST(BBLX, “2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[%, 4]1>=[*, 5]+[*, 6] {2} ABS ([*,41) >=ABS ([*, 5]+[*, 6]) {2}
42490 IF NOT INLIST(BBLX, “2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

(%, 71>=[*, 8]+[*, 9] {1} ABS ([*, 71) >=ABS ([*, 8]+[*, 9]) {1}
noaoq | IF NOT INLIST (BBLX, “2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

(%, 71>=[*, 8]+[*, 9] {2} ABS ([*, 71) >=ABS ([*, 8]1+[*, 9]) {2}
rnoqon | IF NOT INLIST (BBLX, “2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[, 10]>=[%, 11]+[*, 12] {1} ABS ([*, 10]) >=ABS ([*, 11]+[*, 12]) {1}
2493 IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[, 10]>=[*, 11]+[*, 12] {2} ABS ([*, 10]) >=ABS ([*, 11]+[*, 12]) {2}
rnoaoq | IF NOT INLIST (BBLX, “2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

(%, 13]>=[%, 14]+[*, 15] {1} ABS ([*, 13]) >=ABS ([*, 14]+[*, 15]) {1}
noaos | IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[%, 13]>=[*, 14]+[*, 15] {2} ABS ([*, 13]) >=ABS ([*, 14]+[*, 15]) {2}
noaos | IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[x, 16]>=[%*, 17]+[*, 18] {1} ABS ([*, 16]) >=ABS ([*, 17]+[*, 18]) {1}
aoao7 | LF NOT INLIST (BBLX, “2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[%, 16]>=[*, 17]+[*, 18] {2} ABS ([*, 16]) >=ABS ([*, 17]+[*, 18]) {2}
anoaog | LF NOT INLIST (BBLX, “2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

(%, 19]>=[%*, 20]+[*, 21] {1} ABS ([*, 19]) >=ABS ([*, 20]+[*, 21]) {1}
aoag | LF NOT INLIST (BBLX, “2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[x, 19]>=[%*, 20]+[*, 21] {2} ABS ([*, 19]) >=ABS ([*, 20]+[*, 21]) {2}
noa3o | LF NOT INLIST (BBLX, “2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[%, 22]>=[*, 23]+[*, 24] {1} ABS ([, 22]) >=ABS ([*, 23]+[*, 24]) {1}
2431 IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[*, 22]>=[*, 23] +[*, 24] {2} ABS ([*, 22]) >=ABS ([*, 23] +[*, 24]) {2}
2432 IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[x, 25]>=[%*, 26]+[*, 27] {1} ABS ([*, 25]) >=ABS ([*, 26]+[*, 27]) {1}
noazz | IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[x, 25]>=[%, 26]+[*, 27] {2} ABS ([*, 25]) >=ABS ([*, 26]+[*, 27]) {2}
noaza | IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[*, 28]1>=[*, 29]+[*, 30] {1} ABS ([*, 28]) >=ABS ([*, 29]+[*, 30]) {1}
noass | IF NOT INLIST(BBLX, ”2”) THEN IF NOT INLIST(BBLX, ”2”) THEN

[, 28]1>=[*, 29]+[*, 30] {2} ABS ([*, 28]) >=ABS ([*, 29]+[*, 30]) {2}
A3128 | [64]=[65]+[67] [64]=[65]&[67]
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